oy A .
\g} Time Series data.

Roll No. .... _—
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cﬁi)/liinﬁting value of the coefficient of determination :
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B. A. Economics (Hons.) 5th Semester
it What is the problem of Multicollinearity ?

(New Scheme w. e. f. 2017-18)

.. qEERE T e 7
Examination — March, 2021 (iy{ Two consequenes of Multicollinearity.
ECONOMETRICS - sgEReEa & & aRomm R
Paper: P- 11 C})/Autoregressive lag model.
wyrHE v s

Time : Three Hours | [ Maximum Marks : 80
Before answering the questions, candidates should ensure that they have

(vi) Encompassing model.

been supplied the correct and complete question paper. No complaint in .
this regard, will be entertained after examination. PR sl
737 & Fa7 37 & ve yourf 77 ghkad w7 o & g 37 @@ (vityMeasurement error problem.
e} 9 P & wlem & G g9 g9y 7w A R 7@ TR B e
viiJSimultaneous Equation bias.
Note : Attempt five questions in all, selecting one question 3
from each Unit. Question No. 1 is compulsory. All 3mad AR
questions carry equal marks. UNIT =1
To% TR & % 9 g §Y, 39 wg uE 3 I e - |
g oW wem 1 aRed @ o aEl & e , ‘
T . Describe the.mam steps involved in an econometric
model by taking an example from economic theory. 16
1. Explain in brief : 2x8=16 affs RE § @ s & g ot A A
|87 & guig ¥ : T G FH A e A
P.T.O. 94202- -(P-4)(Q-9)(21) (2)
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3. Examine the method of Ordinary Least Squares (OLS)

with their properties. 16
@ grw & (OLS) Ry &1 ot afeq aof ¢
UNIT - It
TR ~ |l
‘/4./Explain any two tests to detect the problem of Hetero
scedasticity and correction methods of solve it. 16

v fRrafrr & quer & o W @ HiF & ghEe A
Fre H4 v Rl @ gage & RiEEt & aoF F3

‘/‘K Define the problem of auto correlation. Discuss the
Durbin-Watson test for detection of auto correlation.16

WUEEE & g9 H IR & EEeaeE #H qd
A & ef¥-deaT vl & qoiF Ak

UNIT - Il

s -~ il

6. Discuss the types of specification error. Examine the
consequences of specification error. 16

ﬁﬁﬁﬂgﬁﬁ%mﬁﬁaﬂ?ﬁlﬁﬁ%ﬂgﬁ%qﬁwﬁf
N T BT '

7. Explain the criteria for model selection. 16
dtew T 3 R AIGETS # AEA Hi
94202- -(P-4)(Q-9)(21) (3) P.T.O.

')

UNIT -1V
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8. Discuss the uses of Lag in economics. Examine the
Koyck approach to distributed Lag Model. 16

Jdemey # gy @ wAnl @ guiw &4 &fed gvdar HiEd
F19% Ay 9 =rer Fifm

9. What is the problem of Identification ? Explain
identification conditions for structural form of
simultaneous model with the help of examples. 16

RS A e T T 7 @ H GerFd q FIId HrEd
# HETeE w0 3 g oREE @ o @ e HU
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